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Note : —  Answers may be written either.,in English. or in Hindi; but the same medium should
be used throughout the paper.
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Attempt five questions in all.
Question No. 1 is.compulsory.
Answer hwo queslioﬁs from each Sec!iﬁn. .
| All questions carry equal marks
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. Answer any three : ‘ | (5,5.5)

Explain the problems of scarcity of resources, choice and bpponunity cost. _

Differentiate between increasing retums to scale, constant returns to scale and diminishing _

returns to scale using isoquants.
Explain the various methods of measuring national income.

What are the factors affecting the curency exchange rate of a country ?
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Define price elasticity of demand. Compare the elasticity of demand at the point of

 intersection of two straight line downward sloping demand curve. 7

Using diagram, cxplain that price effect is the sum of income effect and substitution effect -

for a normal oommodlty ' 8
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Explain the law of variable proportion. : 3

Describe the equilibrium conditions of a firm under perfeci competition in the short run

and the long run. ' 10
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Elaborate the problems of ifnperfect information in the market. How are these problems

tackled in imperfect market ? ' : 8

‘How is the equilibrium wage rate determined in the labour market ? ' 7
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Describe the theory propagated by Keynes for the determination of equilibriurh level of

income in an economy., 9
For the given values of consumption and investment :

=500 + 0.8Y, 1= 300

Calculate :

(i) the saving function
(if) the equilibrium level of income. | ' 6
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C =500 + 08Y, 1= 300
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Ex'plain the c'onc.ept of inflation. What are the éeneral feasons of inflation ? 9

Does the increase in money supply always cause proportionate increase in general price

tevel ? P | L
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H.ow is the equilibrium le.vel of income determim;:'d in an open ecop‘omy 2 6
Elaborﬁte the concept of baiance of payment. Why is .it_ necessary tp have_-Ba]mce qf
payment for an economy 2 | ' ' | _ " 9
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